XYZ2,=99.2, 100.0, 76.07

2
8= a, [ (x=x) /)
bz bylz/y
a0=1, by =-04
X.=0,110,B_ = 1,100
Crg=[AF+BA
6 OstwaldFarben (o)

von maximalem (m)C,g im - N = :
linearen Farbenraum (C,g . Y) 155# N rad

Lichtart P45, Y,,=100 Y,=10 <46 !
Name Bereich X, Vi 7, %y Yy A A -50

R, 5727756954 451 772 0.5682'0.3685 600 492

¥, 497.775 8811 95.27 1147 04521 04889 574 467

G, 497 572 2859 60.26 11.43 0.285 0.6009541 5alc

C, 380572 39.69 650 76.04 02196 0.3596 492 600 Parameter:
B, 380_497 2112 14.83 7229 01951 0137 467 574 Y & Name
M 572_497 80.64 49.84 72.33 03976 02457 541c541 ;

W,380_775 99.2 100.0 76,07 03603 0.3632 100% Lichtart P45
N.380775992 100 76 03603 03632 10% Y,,=100 Y,=10

7, 380_775 1785 180 1369 0.3603 0.3632 18%
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